Notes 3.2 (1718) 3a.notebook November 13, 2017

Warm Up

Enter the following keystrokes on a calculator.

< | )] ENTER

Describe what the calculator gives you as a solution.
Repeat the keystrokes with a different negative number.
Why does the calculator give this answer?

3.2 Complex Numbers L Imaj |n&ry
unit
) Core Concept [y
The Square Root of a Negative Number
Property Example
1. If r is a positive real number, then vV—r = iVr. V=3 =iV3
2. By the first property. it follows that (iVr)* = —r. (V3 =i2.3=-3

X Since (=N, izzért) = -|
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: ]
Find the square root of each number. Simphfj :

a—25 = (V25  b.yT12= V72 c.-5y9 = -5 1\N9
5( LVt 12 -5¢(3)

b2

Find the square root of the number.
d.J 4 e. V12 f. 36 = -3l g. 2454 = 25 )
2L 23 @ e
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(2) Find the values of x and y that satisfy the equation.
a. 2x-7i=10+yi. ¥ real pocts must be
@ /./najlhﬁffj Paf"ff AC. =
@ -7(- vt

(-9

%
<% = |0

Find the values of x and y that satisfy the equation.
b. x+3i=9-vyi

c.9—2x+@
(X=9) =-Y /y= >

S
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&) Core Concept

Sums and Differences of Complex Numbers

To add (or subtract) two complex numbers, add (or subtract) their real parts and
their imaginary parts separately.

Sum of complex numbers: @+b)+c+d=@+c)+ b+ di
Difference of complex numbers: a@a+bi)y—(c+di)y=@—o+b—di

(3) Add or subtract. Write the answer in standard form.

a.(8-i)+(5+4i) :/3 +3[

b. (7 - 6i) ~|(3 - 6) = o
- b +G6()=0
D AR LA
c. 13 5 %) + 51 | - A

o
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0+ b

4) iRly. Write the answer in stan

a. 4i(-6 +1) b. (§= 2)(4 +,71)
| ~ 3 +(p"}(48’(
R4 ( +

"/( )
ne\/zf- [eave C Gt LIu
- Db + 6+ +I
":ZL/l"/"L/(“{) 1 l : ZL’“

-Fmal anfver >

(5) Perform the operation. Write the answer in standard form.
a.(9-i)+(-6+7i) b.(3+7i)-(8-2i) c.-4-I(1+i)-[(5+9)

PR - 54 9( -4 K0~ K30

~ [0 -10,

d. (-3)(10i )= -0 % e.i(8—i)?(;(.[;l f.;+lg( —i;_j@z’
30 2" -1) @ 19 -9 +9\
'\/

b+ AL
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(6) Solve each equation.
@x+4=0 — Xz—*:—l-/ = X =
(b) 2x* = 11 = —47

41 411

Ax = -3

2 2

\{ X _ﬁ

Xz t
6‘8 -+ 31

T

Al

(7) Find the zeros of f (x) = 4x* + 20.

Ix 2020
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Mixed Practice
Solve the equation.
1. x*=-13 2.x°+11=3 3. 3x*-7=-31

Find the zeros of the function.
4.f(x)=x*+7 5.f(x)=-x*-4 6. f(x) =9x* + 1
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